LaampPron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG2200E

No ApTuRYn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHwue K-80
1| 511050605503 | Bont Méx55 2 171 011010001700 | Tonoska uanHapa !
2 011010700000 KpbiwKa KnanaHoB KOMNAEKT 1 18 011010001800 BnyckHoM KnanaH 1
3 011010004900 MpoKknagKa KpbIWKKU K1anaHoB 1 13 011010001900 BbInycKHOW KnanaH 1
4 | 011010002200 | Bont kpennenus kopombicaa 1 20 | 516030802003 | Wnunbka M8x20 2
5 011010100000 Kopombicnio KnanaHa KOMNAEeKT 1 21 011010000400 NEVIE] 2
6 513020800002 LWaiiba 2 22 | 011010000700 laliKa KpenaeHua roNoBKM 2
7| 511050602803 | Bont M6x28 3 23 | 019990012000 | LWaii6a npysmHbl knanawa 2
8 019990008700 LinunbKa KpenaeHusa kopnyca ¢puabTpa 1 24 522010101601 Konnayek macnocbemHbiii 1
9 011010004000 BnycKHOW KonnekTop 1 25 011010002000 Mpy»KnMHa KnanaHa 2




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: DG2200E

10 011010004800 YNAOTHUTENbHOE KONbLO GOPCYyHKM 1 26 011010002100 Tapenka Npy*KMHbI KnanaHa 2
11| 516030605003 | Wnnnska M6x50 2 27 | 011010002400 | Cyxaps knanava 2
12| 514010400800 | Winer 4x8 1 28 | 011010002300 | Konnauek knanama 2
13 516030605503 Wnunbka M6X55 2 29 011010500000 dopcyHKa KOMNNEKT 1
14 011010000500 Falika KpenneHus ronoBKku 2 30 019990008300 MnaTa KpenaeHna GopcyHKn 1
15 | 011010001600 | Mpoxnaaka konnekTopa 1 31 | 512030600002 | raiika M6 2
16 | 011010000400 | Laii6a 2 32




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: DG2200E
No ApTuRyn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHwue K-80
1 019990012400 Kopnyc Bo3aywHoro ¢punbrpa 1 3 512040600002 laiika M6 3
2 019990012500 duUnbTp BO3AYLWIHBIN 1 4 019990012300 Mpoknagka nog kopnyc 1




LaampPron

Power & force MANoCcTpMpOBaHHbIA KaTaior 3anacHbIX YacTe Mogaenb: DG2200E
——6
Ne ApTuUKyn HanmeHoBaHue K-Bo Ne ApTUKYn HaunmeHoBaHwue K-80
1 011010200000 Konbuo nopwHeBoe KomnneKt 70 mm 1 4 011010002600 Manew nopwHsA 1
2 518041900000 CTonopHoe Ko/bLo 2 5 011010002700 Bknagplw wartyHa 1
3| 011010002500 1 6 | 011010300000 | LWaryH komnaexr 1

MopweHb




LaampPron

Power & force

Mogenb: DG2200E

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-80
1 514010400800 LWtndT 4x8 2 18 019990012800 MpyxuHa 2 1
2 011010000300 LINuAbKa KOPOTKaA 2 19 011010400000 Pbiuar ynpasneHusa THB/l, komnaekt 1
3 011010000600 MNpoknagka ronosku uuAMHApa 1 20 522010101301 CanbHuK 8x14x14 1
Komnnekr 0,1-0,5 mm

4 011010000800 LnunbKa ganHHas 2 21 011030006101 Wanba 1 mm 2
5 011010000900 MNpoknagka TonkaTenen 1 22 521030100101 MoAWNNHUK UronbyaTbIn 2
6 011010000100 Kaptep 1 23 011030006102 LWaiba 1,5 mm 1
7 522010100801 CanbHWK KoneHsana 30x45x8 1 24 011010000200 Kpbiwka-wyn 1
8 011010004400 Tonansonposog B/, 1 25 523010100300 YnnoTHUTEeNbHOE KoAbLo 26X3,55 1
9 19990014000 THB/, HoBOro obpasua. 1 2% 019990007100 LWaib6a ynnoTHUTENbHAA 2
10 512040600002 lalika M6 3 27 019990007000 Bont chnsHoro otBepcTus 1
11 019990007600 Mnata KpenneHna THBA, 1 28 029990000101 MaTpyboK gns camea macna 1
12 019990007500 Mpoknagka nnatbl 1 29 019990011800 KOHTpONbHbIV 6onT 1
13 019990007400 Mpoknagka THBA 1 30 019990007700 MnaTa KpenneHuna nogLWnNHUKA 1
14 019990007300 LWinnnbka kpennenus THB/, oanHHas 2 31 011010001100 BosayxoBsop, 1
15 019990007200 LWnunbka kpenneHuna THB/, kopoTkaa 1 32 511051003503 Bont M10x35 2
16 019990011500 MaHenb pblyaros 1 33 019990010700 CTapTep aNeKTpuYecKuin 1
17 019990011400 MpyxuHa 1 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG2200E

28

&
LI
Ne

ApTuUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-so

1 011010001400 Kpbiwka kapTepa 1 20 011010003900 Pacnpepggan 1
2 514010801200 Wt 8x12 2 21 011010003800 LectepHa pacnpegBana 1
3 521010010601 MoawunnHmk 6202 2 22 521010010501 MoawunnHuk 6205 1
4 011010002800 Ban 6anaHcupa 1 23 011011100000 LieHTpo6exkHbli perynatop o6opoToB 1
5 519010100500 LLinoHKa 5x5x7 1 24 019990009100 Tpybka nogaun macna 1
6 011010002900 LLlectepHa Bana 6anaHcunpa 1 25 019990008200 3arnyLwka Kpbiwkn Kaptepa D8 mm 3
7 521010010901 MoawunHuk koneHsana 6306 1 26 523010100500 YnnoTtHUTeNnbHOE KonbLo 25x2,4 1
8 011010003200 LLlecTepHa npuBoAa Bana 6banaHcupa 1 27 019990009000 MacnaHbii dunbTp 1
9 011010003101 KoneHnsan 1 78 511050601203 Bont M6x12 4
10 519010100500 LLinoHKa 5x5x7 1 29 029990000201 [atunk gasneHuna macna 1
11 011010003600 TonKaTenb KnanaHa (wraHra) 2 30 514010301600 LLTndT macnoHacoca 1
12 519010100600 LinoHKa 5x5x12 1 31 019990012600 MacnoHacoc KomnaeKkr 1
13 011010003000 LLlectepHa npnBoaa pacnpeasana 1 32 523010100400 Konbuo ynnotHutensHoe 34,5x1,8 1
14 011010001200 MpoknagKa KpbIWKKW KapTepa 1 33 019990008800 KpbiwKa macnoHacoca 1
15 011010001300 BKnagblw KoneHBana 1 34 511050803803 Bont M8x38 1
16 019990011100 Tonkatenb perynatopa obopoTos 1 35 522010100701 CanbHUK KoneHBana 24x42x10 1
17 519010100700 LLInoHKa 5x5x14 1 36 523010100300 YnnoTHUTEeNbHOE KoabLo 26X3,55 1
18 011010003700 Tapenka TonKatens KnanaHa 2 37 011010000200 KpbiwKa-Lyn 1
19 521030100201 UronbyaTblii NOAWUMHUK 1




LaampPron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG2200E

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-80
1 011010003300 3ybuaTblli BEHEL, MaxoBMKa 1 8 011010004741 Koxyx maxoBuKa 1
2 011010003400 MaxoBuK 1 9 511050602203 Bont M6x22 4
3 011020003300 LWaiba 1 10 513040600002 LWaiba 6 4
4 011020003400 lalika KpenaeHnsa maxoBuKa 1 11 019990010400 Brynka 10x10 4
5 011010003500 CTakaH MaxoBMKa 1 12 019990010300 YNNoTHUTENbHOE KONbLO 4
6 511050601203 Bont M6x12 4 13 511050600803 Bont M6x38 4
7 019990010200 YNNOTHEHME KOXKyxa 1 14 011010600041 CrapTep & c6ope 1




LaampPron

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG2200E

Power & force

Ne ApTuKyn HaunmeHoBaHwue K-Bo Ne ApTUKyn HanmeHoBaHwue K-s0
1 029043100001 Fnywwutens 1 8 029030400800 KpbiwKa reHepaTopa ctopoHa AVR 1
2| 019990000101 | PerynaTop 3apaaku AKB 1 9 | 511050615001 | BosT M6x150 4
3 029049910300 Mpoknagka rnywntens 1 10 029030500101 CoeanHUTENbHAA KONOAKA 1
4 029030200307 KpbiWwKa reHepaTopa CTOpOHa Aguratensa 1 11 029030700200 LLleTkn KonnekTopHble 1
5 062024120005 Potop 1 12 029030300314 3alnTHAA KpbIWwKa 1
6 062024130001 Cratop 1 13 029030610201 Bnok AVR 1
7 029030101300 3awpura cratopa 1 14 511080819501 BonT KpenneHuna potopa 1




LaampPron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG2200E

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-s0
1 021010100001 Pama 1 11 029961200100 KpaH TonauneHbIi (2 wryuepa) 1
2 029060100102 3awwTa gsuratens 1 11 019990009400 KpaH TonameHsbii (1 wryuep) 1
3 029990000501 Bnok oTkntoueHma THBA 1 12 029019900200 LLnaHr ToNAMBHbIN 1
4 029990000903 Tpoc 610Ka oTkatoueHusa THB/, 1 13 021010020000 MogpamHuk 1
5 029019930000 YKasaTenb ypoBHA TONINBA 1 14 029025500060 MaHenb ynpasneHua 1
6 029019901102 Kpblwka TonamneHoro 6aka 1 15 C3500 AKB 1
7 029019900601 ®dunbTp BcTaBKa Haka 1 16 029969900219 Mposoa, AKE YepHbiii 1
8 029012900143 TonnusHbIi 6ak 1 17 029969900221 Nposog AKB KpacHbiit 1
9 011010004300 PunbTp TONAUBHBIN 1 18 029969910201 Mnowaaka kpennenus AKB 1
10 029019900100 LLnaHr TonAMBHbIN 1 19 029910300401 BuBpOM30AATOP 4

029961200100

019990009400




